
Multiply by 0.1 (A)Find each product.
3.44 × 0.1 = 8.806 × 0.1 =
4.273 × 0.1 = 9.1835 × 0.1 =
3 × 0.1 = 1.857 × 0.1 =
0.71 × 0.1 = 1.6436 × 0.1 =
6.7 × 0.1 = 0.74 × 0.1 =
7.7 × 0.1 = 1.38 × 0.1 =
5.664 × 0.1 = 3.4902 × 0.1 =
4.4 × 0.1 = 9.3 × 0.1 =
7.16 × 0.1 = 9.8 × 0.1 =
3.4968 × 0.1 = 3.6 × 0.1 =
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Multiply by 0.1 (A) AnswersFind each product.
3.44 × 0.1 = 0.344 8.806 × 0.1 = 0.8806
4.273 × 0.1 = 0.4273 9.1835 × 0.1 = 0.91835
3 × 0.1 = 0.3 1.857 × 0.1 = 0.1857
0.71 × 0.1 = 0.071 1.6436 × 0.1 = 0.16436
6.7 × 0.1 = 0.67 0.74 × 0.1 = 0.074
7.7 × 0.1 = 0.77 1.38 × 0.1 = 0.138
5.664 × 0.1 = 0.5664 3.4902 × 0.1 = 0.34902
4.4 × 0.1 = 0.44 9.3 × 0.1 = 0.93
7.16 × 0.1 = 0.716 9.8 × 0.1 = 0.98
3.4968 × 0.1 = 0.34968 3.6 × 0.1 = 0.36
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